FIRST TERM
ClAsSSda .. |
Subject-Mathematics (Set-1)

1 Al Questions are compulsory
2 The question Paper consists of 26 questi

sections A,B and C. Section A comprises ¢

one mark each. Section B comprises

¥

marks each and Section C comprises of 7 ¢
marks each. i =
3 All questions in Section A are to be answered
one sentence or as per the exact requirement
question, e
4 There is no overall choice .However . internal ct
been provided in 4 questions of four marks each |
questions of six marks each. You have to ; ttempt
of the alternatives in all such questions.

ECTI

\ ﬁﬁ relation R is defined on the set of int
Find its Domain.

v?@'imp!ify 0!

s of 6 questions of
uestions of 6




8. Find the Domain and Range of f(x) = 3 E
2-X
OR
/ﬁﬂ& the Domain and Range of f(x) = \}_
9- x?
\,Oﬁ'rove that sin’A + sin?(A+1/3)+sin?(A - W/3) = 3/2
OR

In a triangle ABC , prove that
SIN’A/2+sin?B/2 +5sin?C/2 = 1-2 sinA/2.sin B/2.sin C/2

Mrove that tan 4x = 4 tanx(1- tan’x)

1- 6tan?x+tan’x

\}l/brove that 1242748245 ... . +(2n-1)?= n (2n-1)(2n+1}
3 |
12-Draw the graph of Greatest Integer Function . Also write its Domain
and Range

“Find x and y , for which the complex numbers -3+ix’y and x’+y+4l arz
conjugate of each other.Given x, y € R

OR

What is the conjugate of 2-i

(1-2i)?
*ﬁnd the square root of -2 -2v/3i

OR
Write the following in Polar Form 1 &

» Solve the system of inequ

__16-A milk of 80% conc
some water to it
70 % . lf 540f



20in a town of 10,000 families it was mma that 40% fammes buy
newspaper A , 20% families buy newsp@pera 1%5 mauaw |
newspaper C, 5% familiesbuy Aand: . B, 3_% buy g_mc and 4 % m,y;
A and C . If 2% families buy all the three. Find L
(i) The number of families which buy newspaperA onb; gh
(i} The number of families which buy none of A, B and g
(i) The number of families which buy newspaper A ithe

2 f(x) = L4x_, show that f(x), f(x) =%

1-x 1+ [f(0)
OR
The function f is defined by f(x) =(1-x x <0
1 x= 0
( x+1 x>0

Find f(2/3) , f(-4/3) . Also draw the graph of f(x).

/ : - . ¥
\#Z. Prove that 4sin a.sin(60°-a).sin (60°+a) = sin 3a



